




California’s cannabis liberalization policy produced different outcomes in the black market of 

producer’s











𝑦 = 𝐵0 + 𝐵1(𝑆) + 𝐵2(𝑇) + 𝐵3(S · 𝑇) + 𝑒



“Table1” and “Table 2”



𝐴𝑆𝑉 = 𝐵0 + 𝐵1(𝐶𝐴) + 𝐵2(𝑑19) + 𝐵3(𝑑19 · 𝐶𝐴) + 𝑒 



–

“ ”



𝑇𝐶𝑃𝑂𝐼 = 𝐵0 + 𝐵1(𝐶𝐴) + 𝐵2(𝑑19) + 𝐵3(𝑑19 · 𝐶𝐴) + 𝑒

–

“ ”



𝑐19 = 𝐵0 + 𝐵1(𝐶𝐴) + 𝐵2(𝑑19) + 𝐵3(𝑑19 · 𝐶𝐴) + 𝑒



“ ”

25% from 2016 to 2019 supporting Gary Becker’s research

’



If California’s 

ince producers’

marijuana’s black market.

did not happen with California’s mariju





𝐴𝑆𝑉 = 𝐵0 + 𝐵1(𝐶𝐴) + 𝐵2(𝑑16) + 𝐵3(𝑑16 · 𝐶𝐴) + 𝑒



𝑇𝐶𝑃𝑂𝐼 = 𝐵0 + 𝐵1(𝐶𝐴) + 𝐵2(𝑑16) + 𝐵3(𝑑16 · 𝐶𝐴) + 𝑒

𝑐16 = 𝐵0 + 𝐵1(𝐶𝐴) + 𝐵2(𝑑16) + 𝐵3(𝑑16 · 𝐶𝐴) + 𝑒



analysis of California’s Proposition 19. 
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